>
[

WNod
S0y

§40. PDE< A [ourier sevies [ |

WZ how éjﬁv\&a ‘Fotr‘)ﬁo\\ Ot{iﬁcrﬁer'(aLl
%/rb\ajﬁomﬁ <P:DE§> T'/\a Utl/\l&\/lou)v\ WQmejﬁow
er » POE ¢ o @xmdﬁw@ ot
SJZ\JQV(}\ \/ar\alo]es Owﬁ P:DES Qeajmre,

&gﬁo\ d@r}\/ajﬁdes (@OM 1%.02)
P365 (hre ﬁev\e_ra\\\/ WmoYe oh?@,th

Lo gwg Lon ODEs, <0 we ouly gxw%
JF\AQ Q‘Dt o\p\l% 4’7»0 ]MP_CN quuov(%oms
w A Jﬁm(’. oy i UQ@—\— 4 Sfo\ua Vorigble (%)

> [he )/\ﬁoj‘ GQVMQ%OV\

9}1 :qaz(* <\7>@ Comd’awH
ot D K>
i Tne Wave egma%‘om

p—

k"

EZU\ CZ @ / CC >0 CQ\Ag'FQM%)
o xE



dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov


|2.03

%iOi T{/\e l/\eoC" QcLl,{oc{W‘ov) s|0O. !
S10.1. [ Sethy ' ©

T\/IQ \/\Qc& 6(%»0«‘“;1/\ LS
ou _ydu [THECRY]
ot ox?

\N\/\ﬁre.:

o L> 0O s Hhe B varialle

° X 1S %e SE&CQ Vouri able.

\NC A(OV\CQ X o G ierﬁrva‘ D‘ﬁ lﬁm\(b‘\-)/, |
Oex<ly  where >0 s L yed

© U(X)'E) 1S %/‘Q UM‘L\HO\)\JV\ ‘p(-»\WCTHOV\
delined for £2>0, O<x<sl

H@V@ S ‘H/\Q F‘C{uw b\D ‘HA{ doWMein D\C !

o e O ajve 2
QCZSSJFQV\JC o X%

° As Jrlwé r\v‘a\ ) <
E’NQ\WQ O{:P(O)\ T
(Bix x & &)\\che\feﬂﬁ&e jn +)

o %U\z \S %g SQ(/O\A(X t)ovr-Ha( dzevi va%'ue ?pu

N (L}x JC Y, dillereplicle in x 'huica)

\

L X


dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov


£10..2. Mddelina 252

The Mco\i eq/uc;]b vuoolj_lf

,};ﬁw\Pe}r@\ uR ot lé\ L OQ Y\Z)A

OQ \QV\SHA LAi 5 i

Hore w(t,x) = Fewmp erature ot Hme €
ok va‘\Jn'O\A ¥ in the vod

U\/\\\AVS <S&\N\{DLQ)‘-

L n Secowds %—% " EE_EC
X ‘n wefers Ny o
D e e

™
2

S
M s redaded) s Hie
! Set ;Qo& Cowducti \;‘\{’L D‘[ the rod

QOU?L) \\A&ngicoﬂw'ovx ‘@;r Jr\m ]Aeaj[ qu/uoﬂv‘omr

IWC 22_9_10 “/ en @ch\\:@)*,'e’
X" 2
U (%% oS \/\5(’ de'om\) OW jL

T\/\\lS COVYQSPOV\AS ‘{‘O‘H\e \ivvza/r dz/‘\gjn'\bu\%om
O(;ULJ‘/ZQW\EW(}JNR \oeim 0 S eacllj SJFO\J&:

4&1/; N = WO (,\/\Q\I\SQ [N ‘Lﬂ)'\/\ PQ/V‘O\%{Y‘L
O c X



dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov


(% ~03[

For Generad W), the 3

Second Qleyivative @ﬁz ajves bhow -Caw

Pa\

w 1S TCfO\M Le‘lmg livear X

Ok\AO\ We \AQO\JV eccu&\%‘om IS Fugwagj A
—Ei lDeCoV\f\e— U\%\Q%gﬁ \imear Qs *["»me Aees o'

n
' —

S T — —— X

du_ L U
3 VT 50 50 007 ?9%70
(@rro ws wdicade ?_\i
ot

201y Im}'ha\“ loouvmdou\mj valug. g?[rolofem (lvE)VP)

du _ 3 rQZ_UL a=ulxb), €20 Dex< L
fa% 9?@' ‘\\/\\\Jﬁck\ @V\OE\HOM{

\)\(X)(ﬂ: J;(@é/ C.X'MS l@“?wajnm at Fwe O

\A(O )t3 =Q \:Dw*id/\\ej\' \ODQV\@\&N Cordtons:
w(L,t)=0 v ka‘V\ﬁ the ends of +u Yod

O{-(' JVQ\M{)@FC&MW O
({/\/\e, ‘cQS% @10 —qu bod s ‘lV\Sb\\ChL@oU



dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov


I 05
O

Aho%w O{J‘Hov\ s 4o ‘\W\FOSQ s |

L &)
Ne SAareN\% 100 UV\O\O\V\HJ' COV\dl'{_]OV\S .'

%%COHQZO These Correspend o
2u (| )=0 ‘W\Su\aera Fhe entire vod

Ml\ FOV amﬁj <SWCTQC"€V'H‘T V“qulwf)

ﬁmcjﬁo\ﬂ Q ‘](\Ae, T-BVP O\L)o\fe,
\AQS 6} \Mf\iéwe So\\ﬁ?'ovy U.

NOJVC oue adua\L\( Aoes \AbJ( [/\a\)e o
go\ujdov\ \Ear Jc<©. This @rNSfom&g

JVO'H/\Q \Qz& -H/\OCI— %ermodjhawic_s S
\/LQJr %W\Q reversible (Tud \ew oF ‘Haﬁ\fwocl‘jwwics)

21014 Speda\ Solutious
ReCoﬂ ‘Hﬂogf WZOW O sggjm\m mP ONDES

\é- 5” We J;oum\ Solutions in He Lorm
’%(&\26% V) whee AV=XT

gjw %r‘ ')’\/\e \/\@oq’ Q%ua"}ﬁov\ We 1@0\4
éokujﬁov\g ) ‘)rl/\e TGUY‘VV\



dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov


18 .o
$(O.]

]u(x,ﬂ _ ety (ﬂ
\N\ﬂere X 1S 00 wumber and Vs Ome%‘ow.
o QGARS% ‘\/\Ax »»eajr €CL\A0017‘<>M We \/\eQA

2 \URRY
Ny () :%%; :V?{z =Ve™ V'(x)

Thod s, W 2 \/(Kﬂ_

Na Q\So \A€Q0| \J%O SO\JDS% JrlAe Eouno&arg

CD\/\CK/‘\‘\‘\\D\AS» E‘ﬂw%v iD\wr‘\CL\\QJ( lo.C. We %e“}
V(%) = %\/CX) . D<x< L

V(o) = O

T\/\OJL S We \J\)cud' %\* o ke
O €A envalue owp D on loL]
\j\ﬂj(\/\ J( e j>‘|v*‘\c,\/\\€\“ lOOUJMCAQE Cov\c\H'ucov\S

owmd to be Jflae (orreSpon

| | Pera
QJ\%QV\J;\“/‘Q oWn,

eca\\’\vxﬁ Jrka C@V\«E\Hmjﬁom i gQ-Z

r—),\2
We %Q—E L% = —<% ]Qr ST .‘"‘_\‘eﬁe"‘
V() =Coin ()



dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov


That S, We con take £y
A=Y, V6= S ()
(Tt _
(nl Mxﬁ@t C ®) 6%(% D

So\\)eg JV\AQ \\/\5} €3\ ohon
% e Dividhlét looumo‘&m Cond iFonc

5§10 1.S. The qemcm\ Sol ictrou

Pocoll Mt \gfv §’= A; e 39‘4€mJ

Solution wos _%CJC): Cle/\’%ﬁ + - ‘\’CMQXM%YZ,

\

ng 4\\& \/\9an CC{/\I\OCHDV\ we have O Sluelar

\\TlAeO ve\/\/\” T\/\e geme Va\ So[ﬂioh wlo
{%:Q% t20 osxs L

871 )
L(O,L)=0 < Could W_P\auz Dirt cbleT

_ ith N here bet
u(lit)=0 « f{u \C@f&ma\rﬁow wil ClAQWSQ

@xﬁﬂ: ‘Z bke’ S0 i}"-x)\
C= |
\)d\x\e.ra b\7\029 . are  caustants

C\M \\T\neorewu? Becouse \we A@ wet dig uss .F"
COV\&/‘\’(-\QV‘S own lO\L 0\3 lﬁ —> o \)\/k/\\\c\,\ ev\su_r-( C?‘.lt\\}-e/\/’qguu O)

< Series .


dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov


Rewark: hote fhat cadl \%ﬁ

_ (kYL
T
Thoe UEN —O as £ — .
T is (ovwes Powk o He foct
Jr\AO\Jr ‘HM od will €\J@\Huauﬁ vzach

jr\Ae Oavv\\o\eu)( Jr@\ﬂf\?@rcx\u re.

%v Neuvv\&w\ \O\C. e nstead will
\Aowe Wi, x) = Cowst 05 L >0
531016 Solw\ﬁ) He T-RVP

Here we cowe back 4o Fha irbal -bousdorny

\SQ\MQ ‘Drzo\ole\v\
% %%E = Q%}% , Ue M(x){)) Jc?O) 0 x< |

w(0 £)= u(L,£)=0
Wy, 0) = £ GQ)
The Se v\e(m\w So(ajﬁohl_‘lj%
i t)=2 e P F (T
To £ind EK) We e e ol Conclitiou
\D\Mgf’)'mg A ‘\Z:O


dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov


2. 0%
S 0.t
@

10 Z bysn(iEx) = Fo)|

:DQWE“‘ °"K, —_‘—Lﬁ lél"\"- %Uv'ter Seriejl
on Hee ke Lo L] hos the fomm

F b s)n( x)J

F‘DY bk wlich G\e_c% 'SMCWGC‘\PML‘/% ‘(21;
05k —es, His  Series Cowergcs

O\V\d\ &QWQV\QS 63 %nd’iom O JA,.{ ‘\\/\JR/N&J?
LO,LT.

\Ne St IZOWI‘@W Series  Im More

&ejrcu\ % $10.% later, ]:ew how W€
MSJf wie Jrlw «Q;Howwg

]:O\C} "C WC s Q& (Cow}muouskl otwqévem‘?able>
jCuv\c}(lom ow L0, L] jLLw. 10 Con  be

\J\J\r\JﬁLQM o< AN Sum mp ~HA¢ 41ne rowmcr Sey\es

CA\OO\J( \,\)\J(L\ ngt(x)Sm (—EX>OQK,
TL\\‘S \Qadls jLo: i



dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov


| %X o2

ALGOP THM TQ" So[\)nw(cs *H,\;z T&VP @<) t 5 (0. |

1 TECH N IBWVE)

S—@i \J\)V'k VHA{ \V\A%O/Q COV\Cﬁ.HiQm‘p

T

0S ‘R\sz S O\C DU ies Seyies! ]
\C 7\3§ Zlo §llf\<'\k )W\/\Q/ﬁ: \D\c: = S;C(&)S}V\(T‘}f@okx

SJ& “H@ SOIU\“‘&OM W is Sy\leh L&

n(x ) = ZEKQ—V( >JZM<,\|LX>
k.= | L)

M SO Ve ’Hf\e I
=D 8‘4 S us U\(xfc)/ >0, Osx<r
\A(O)'H: u(Wﬁc):O
U\(X)@ 251(/\)&-’ s\m(%x).
gotujﬁov\: e L}a\Je LflT) V:z)\c(?«legi'ﬂX*S')"(iK)
Sj(c A Wik \C(x Zoob Sih(kx)
]4_
\5\1\«@@ vother Han usiug Ha or mele & by,

we ystr wrike | = 2 L, Sy
]D\é O@WQ'Q/Q%K



dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov


Shep 20 o ged bR

we stort with ”“\e gurigv Seyies

4@7 j[)(x) aud WuHﬁoa\gj eoch Hrm
sn(kd) by e 2Ft o ke
Sove it sl Hie heat ccf/uml;ouz

Q(@ = Dowx — Su(2x)

wt) = De " Linx — e~ (2.

T(Ms a\oe_g <olve ﬁ’L\e \/\€a+ @;f/uajﬁ'on

EA: @_li «\u ]Doumdav Condihons
>t oxt J

U\(OJJC}: b\(’\—\’)‘l:) - Q) Qs —HML
wital condifion  U(x,0) =7 Sinx- sin(3x)

§ 0. |:F MQULW\QWA \Doww\am\ Conditions

N ow \23\ us  Solve ~

2
4 - Q%;%L) u=u (xt) £20, dDEx< L

%LA*(O)JC)iO ~ Neamaun ?oowdag
%—:«(L)Jd:@ 7 Conditiou
n(x,0) = £x)



dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov


A v S[OLY W look i‘ég

{or 5P cal colutions

L) = e/\%\/(ﬁ) wWhere
\l/": %‘\/ , D< x<
V(o) =0
\{I(L> :O‘
T\/\ajf \< % &\) A Q)\‘jem\)a\wgg&ﬁewfuuc%«

7

‘gﬁw‘ :DL Oh EO,L} porth (\)QU\'\/\OV\V} kowqo‘amj
CQI/\OQ;“}T'OV\S

R?chul%j ‘HAQ SQLVA—;OM 0‘( ‘HMS PV‘OLJ)f’w
Prowm €42, we gol
>\:‘Q('~\é ) k=0 '\w+€6€\ﬁ
~ T n parh calar -
\/(K) 695(1\—!—x) < |<=|?>/ u, \)/:ﬂ_>

en

This gives the gemcm\ Solutiov

o (Bt
0G0 = Gt 2ae T es(EX)

Q\NL Sr LWL D\C\C %( )4‘-“/0 ‘)—G/r\m —Q\/ \aj&r @Mv@u’\euaﬂ

\]\)\NQV‘Q Qo,@1)02,~-~ e Cfo nwe c,oug‘famtg



dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov


T4 remains do Lind Hoe

(Dﬁ%c\\ﬂds A e D,ué % JC>Q:

A(x,0)= & rZz oy s (TE x) =L 6.
“_ <=1

—~ -
T\MS s Called  Conine \:our?ergm;%

T he (,oz‘m'\c‘\em‘}’g are (Seo §/(O.5)
L
Q= = Ogﬁ(m@g (TE ) dx.
L
I\/\ \D(l\f"‘lculo«\ﬂ) 0. = % gwc(ﬁ) Ax



dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov

dyatlov


